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Note : This paper contains seventy five (75) objcctive type questions of two (2) marks cach. All

1.

L

6.

questions are compulsory.

The pen | am writing with according to Advaita 1s
(1) Sat (2)  Asat

(3) Both Sat and Asal (4)  Neither Sat nor Asat

Which one according to the Vaisesikas is the asamavayikirana of a pot ?

(1Y Kapila (2) Kapila-samyoga
(3) Upadana (4) Danda-samvoga

Sclect the code that states nitya martadravvas only

(1Y  Ksiti , manas, akasa

(2) Dik, Kala, atma

(3) Paramanus of Ksiti , teja and maruta

(4)  Kala, atma and manas.

The absence (abhiva) of bitterness resides in sugar by the relation of
(1) Samavava (2)  Samvoga
(3} ViSesanali (4)  Svartpa

In casc ot a pot the stick of the potter 1s according to the Vaissikas :

(1)  Samavavikarana (2)  Asamavayikarana

(3)  Nimittakarana (4)  Anvathasiddha

The relation between jau and vyakti according to Kumarila is

(I} Samavava (2) Tadatmva
(3)  Svariipa (4)  Samyoga

Paper-1I1 2
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Which onc of the following is truc with reference to Letbnitz’s doctrine of pre-cstablished

Harmony ?

(1) Bodics and Souls work inconsonance with cach other and become onc.

(2} Bodics act as if there were no souls, and souls act as 1f there were no bodices, but
both act as 1l one influenced the other.

(3) Bodics act on souls and souls act on bodics.

(4) Both bodics and souls arc onc and the same.

Consider the following statements with reference to Kant and mark the correct code :
(1) Space and Time are objective and exist in their own right.

(11)  Space and Time are nol objective but only appearances and are relative.

(i11)  Spacc and Time arc a priori,

Codes :
(1} Only (1) 18 true (2)  Only (1) and (11) are true
(3} Only (111) 18 truc (4)  Only (1) and (1i1) arc truc

Consider the following statements with reference to Descartes and mark the correct code ;
(1) All Mcntal states arc reducible to Physical states.

(11)  All Physical states are reducible to Mental states.

(1)  Body-Mind relation 1s not similar to that of Car and Driver,

(iv) There 1s no Corporeal and non-corporcal distinction with respect to human beings.
Codes :

(1} Only (111) 18 true.

(2)  Only (1) and (1v) arc truc

(3)  Only (11) and (111) arc truc

(4y  Only (1), (1) and (1v) are true

‘It 1s impossible to realize perfect truth so long as we are imprisoned in the mortal frame’
1s the view of

(1} K.C. Bhattacharya (2) Radhakrishnan

(3) J. Krishnamurt (4)  Gandh

Consider given Asscrtion (A) and Reason (R) in the light of [Tume and mark the correct
code.

Assertion (A) : Personal identity 1s the work of imagination.

Reason (R) : The succession of pleasure-pain, sensations and images arc connccted
together by resemblance, contiguity and causation,

Codes :

(1) Both (A) and (R) arc truc and (R) 15 the correct explanation of (A).

(2} Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).

(3)  (A)is true, but (R) 1s the false,

(4)  (A)i1s false, but (R) 1s truc.

Paper-111 4 JA-003-17
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Relation between word and 1ts” meaning 1s not natural 1s the view upheld by
(1Y Bauddhas (2)  Vedantns

(3) Mimamsakas (4) Nairvayikas

Which of the following pair supports the view that Truth of Cognition has not to be
verified by any other cognition ?

(1) Vedanta and Mimamsa (2)  Mimamsa and Samkhya
(3)  Mimamsa and Nyaya (4)  Vedanta and Nyiya

When the implicd meaning of a word or an cxpression cxcludes the primary meaning
partially, then it 1s the case of

(1)  Abhidha (2)  Ajahat laksana
(3)  Jahat — Ajahat laksana (4)  Vwvanjana

Match List-1 with List-11 and select the correct answer by using the codes below :
List — 1 List - II
a. The capacity of the meanings of the words to become 1. Tatparva
objects of enquiry regarding each other.
b. Non-contradiction of the rclation between meanings 1. Asatti
of the words.
¢. The apprehension wiathout an interval of the ;i Akanksi
mecanings of words that is produced by thosc words. -

d. The capacity of a scntence to convey a particular  1v., Yogvala

Meaning.
Codes :

a b c d
(1 & i i v
(2y 1 1 v 1
(3} 1v 1 1 1
(4)y 1 v i i

The negation of the non-cow 1s a positive entity and 1s diffcrent from the non-cow is the
view appropriated by :

(1) Naigama Naya (2)  Apohavada
(3) Pratibimbavada (4) Saptabhanoinava

Paper-I11 6 JA-003-17
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17, ‘Pratyaksam Kalpanapodam® this definition of pratvaksa was given by ;
(1) Dinnage (2) Dharmakirt
(3)  Gangesa (4)  Tévarakrsna

18. The nirvikalpaka statc of pratvaksa is proved by the Naiyvavikas by

(1Y Pratyaksa (2)  Anumana
(3) Upamana (4) Sabda

19. *Yaga na svargahctuh krivatrat” which type of hetvabhasa s committed by the above

anumana ?
(1} Badhita (2)  Satpratipaksa

(3}  Viruddha (4)  Savvabhichari

2. Sclf according to the Vaiscsikas cannot be the scriestratum of knowledge when 1t becomes
(1) Knowcer (2) Known
(3) In bondage (4) Libcrated

21, It is through the mind that one sees, that one hears. Indeed, everything 1s perceived on
being invested with the light of Buddhi like an object in the dark illumined by a lamp
located in front of 1t, in the view of
(1} Gangesa (2)  Sanikara
(3) Vallabha (4) Kapila

22, Which list of purusarthas 1s acceptable to the Carvakas ? Sclect the code given below

(1Y Artha and Kama (2)  Artha, Kama and Dharma

(3) Moksa and Kama (4) Kama and Dharma

23, Which of the following is not a teaching of ‘Bhagvad gi1a ?
(1} Renunciation of fruits of actions.
(2)  Performance of oncs natural and appointed dutics.
(3) Elevation at good fortunc and depression at loss should be conquerced.
(4)  All cgoistic desires should not be dirceted to God.

24.  Which of the following docs not belong to the group of Brahmavihara ?

(1) Mudita (2) Karuna
(3} Ekavrata 4y M aitrl

Paper-I11 8 JA-003-17
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Which of the following s not a Tri-ratna according to Jainism ?
(1Y Samvak Bhavana (2)  Samyak Caritra

(3) Samyak Darsana (4)  Samvak Jnana

‘Sabda nitya Sabdatvat’, which type of hetvabhasa 1s committed by the above anumana ?

(1) sadharana savyabhichara (2)  Anupasambhari
(3)  Satpratipksa (4)  Asadharana savyabhichara

Find the equivalence by matching List-1 with List-11 and select the correct answer by using
codes below :

List -1 List = 11
a. [(pg)orl= 1 [(p2g) - (qop)]
b. [pv {q )] = 1. ~pwvq
¢ [pEg] = 1L [polgor)]
d [p=ql = v. [(pvq) - (pvr)]
Codes :
a b c d
(1 11 v i
(2) 1 v 11 1
(3) 1v 3 1 1
(4) 1 v i i

In the context of Traditional squarc of opposition of proposition, Match list-I with list-11
and select the correct answer by choosing the codes given below |

List -1 List — 11
a. If'I"isfalse 1. E i1s undetermined
b, II*OMistrue 1. ‘I 1s undetermined
c. It 1strue 11, 07 1s undetermined

d. If‘A’isfalsec 1v. ‘A’ 1s false

Codes :

a b c d
(1) 1v 1 11 1
(2} 1 1 v i
(3) 1 11 1 v
(4) 1 v 3 11

Paper-IIT 14 JA-003-17
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Match the List-1 with List-11 and sclect the correct answer by using the codes below

List — 11

Petitio Principii

b, The method 15 not always fallacious for the un. lgnoratio Elenchi
reference to an admitted authority in the special
ficld of his competence may carry weight.

¢. In establishing the truth of a proposition, one often 1. Argumentum ad
casts about for acceptable premiscs from which the populum
proposition in  question can  be deduced as
conclusion,

d.  Fallacy committed when an argument purporting to  1v. Argumentum ad

establish o particular conclusion s directed to
proving a different conclusion,

verecundiam

Codes :
a b c d
(1 11 i v
(2) i 1 v 11
(3) 1 v i i
(4) 1v 1 1 1
30. Sct down the relation between universal and cexistential quantification by matching the
List-1 with List-I1 and select the appropriate code for your answer :
List -1 List —II

a.  [(x) ¢ x| i =~ (x) Y]

b. [(Zx) ¢ x] 1 =[=(3X0)'Q x]

c.  [(x)~ ¢ x] i, =[~(x)~ ¢ x]

d. [(Zx)~ ¢ x] iV Sl 38 &)
Codes :

i b c d
(1) 1 11 11 1V
(2) v 11 i i
(3) 1 v 1 11
(4) 1 [ v i
31, Which of the following abbreviated forms of, *Neither fill more nor Harding was the

grcatest President’, 1s correet ?
(y EfseH) (2) (Fv~H)
(3) Fwll (4) ~(F-II)

Paper-1I1 12
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(3) 1 v 1 11

(4y 1 i v i
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(~ F) - (~H)
F v

(2)
(4

JA-003-17 13

Paper-IIT



www.prepp.in frepp

32,

Lad
Lad

34,

Your Personal Exams Guide

Match the List-1 with List-1I and sclect the correct answer by using the code given below :

List =1 List =TI
(Obvertend) (Obverse)
a. Somec Sisnot—P . Some S 1s not-non-P
b. NoSisP 1. No S i1snon-P
c. SomecSisP 11, Some S 15 non-P
d AllSisP v, All S 1s non-P
Codes :
3 b C d
(e i v 11 11
(L W 11 1V 1
(3) v i 11 11
(4) 1m v 1 1

Consider the Assertion (A) and Reason (R) and select the correct code given below |

Assertion (A) : The number of distributed terms in the conclusion must be at least one
less than the total number of distributed terms n the premises.

Reason (R) : The middle term does not appear in the conclusion.

Select the correct answer from the codes given below :

Codes :

(1Y (A)and (R) both are true and (R} 1s the correct explanation of (A).

(2)  (A)and (R) both arc true, but (R) 1s not the correct explanation of (A).

(3)  (A)istalsc and (R) 1s the true.

(4) Both (A) and (R) arc falsc.

Consider the Asscrtion (A) and Reason (R) and seleet the correct code given below

Assertion (A) @ If onc Premisc 1s particular, the conclusion must be particular,

Reason (R) : (1) An affirmative particular has no distributed terms, and a ncgative
particular has only onc.

(1)  The premises cannot both be particular and thus must differ in

quantity.

Codes :

(1 (A)and (R) both are true and (R) (1), (11) correctly explain of (A).

(2 (A)and (R) both are true, but (R) (1) is a correct explanation of (A).

(3} (A)and (R) both arc truc and (R) (11) is a correcet explanation of (A).

(4)y  (A)istrue, but (R) (1) and (11) arc incorrect cxplanations of (A).

“If a language 1s provided with a truth definition, that is sufficient condition of its concept
of truth” — 18 advocated by

(1) Correspondence theory of truth  (2)  Redundance theory of truth

(3)  Semantic theory of truth (4)  Pragmatic theory of truth

Paper-111 14 JA-003-17
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T - | T - 11
(m} (m)
@ FSUWWAEL L IO T TR R
b, HE TH, U TGIE | i, A T AT TR E
c. FPUH.AE iii. $9 T8, T F |
d. W TE. W E v, W T A E
A
d b c d
(ly 1 iv i i
2) i i i :
(3) v i i i
(4) iii iv i 1

TR (A) 3T % (R) T O9R #d g0 Wel T2 F =9 e -
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% (R) : 9-U% MR H o WaAT & |
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e U &1 0T Z4T 2l § |
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(1) (A) 3R (R) 5F1 97 & 31X (R) (i), (ii), (A) T Tal AT & |
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(3) T F fauteeF fogr (4) T T SRR W
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Who among the following 1s not a sceptic ?
(1)  Hume (2)  Pyrrho

(3) Bayvle (4) Decscartes

What 1s the criterion of truth according to Descartes 7
(1} Clearncss and uniformity (2) Clearness and distinctness

(3} Clearness and completeness (4) Clearness and directness

Which onc of the following pair does not match correctly with reference to Leibnitz 7
(1}  Truths of Reason — necessarily truc

(2} Truths of Fact — based on principle of sufficient reason.

(3) Truths of Reason — based on Law of Contraction.

(4} Truths of Fact — cannot be denied without contradiction.

“Ideas arc of two kinds; 1dcas imprinted on the senses and idcas formed by memory and

imagination.” is the view advocated by;

(1Y Locke (2) Berkeley
(3) Tlumec (4) Lcibnitz

Consider the following statements with reference to lLocke’s theory of knowledge and
mark the correct code :

(1) knowledge depends on the mental power to perceive or apprehend 1deas.
(11)  knowledge 1s not rational.

(111)  knowlcdge consists in sceing the agreement or disagreement between idceas.

Codes :
(1Y Only (1) 1s true, (2)  Only (11) 18 true
(3)  Only (1) and (111) arc truc, (4)  Only (1) and (11) arc truc

Which one of the following is not correct about *Sthitaprajfia’ of Bhagavadeita ?
g g g

(1) A “Sthitaprajna discards arc desires from his mind.

(2) A CSthitaprajfa’is not disturbed in sullering,

(3)  “Sthitaprajna’is not desirous of pleasure.

(4)  ‘Sthitaprajna’ always thinks to do good for others.

Paper-111 16 JA-003-17
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36, TeiaiEa O 9§ S g9yrEare] 98 €0
(ly =M™ (2) U=

L=

(3) @3 (4) T

37, A % SFIER EfAREd H G ] HE 9 7S € )

(1) OIal UF UshEra (2) EyseAr Ul Giw=er
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(1) = (2) =
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E A
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(riven below are two statements, onc labelled as Asscriton (A) and the other labelled as
Reason (R). Considering (A) and (R), select the correct code |

Assertion (A) : Kant’s ethies of categorical imperative is formal and regoristic.

Reason (R) : It disparages the role of sensibility.

Codes :

(1) Both (A) and (R) arc truc and (R) 15 the correct explanation of (A).

(2)  Both (A) and (R) arc true, but (R) 1s not the correct explanation of (A).

(3)  (A)istrue, but (R} 1s the false.

(4y  (A)1s false, but (R) is truc.

Match List-T with List-II and sclect the correct answer by using codes given below

List -1 List — 11
{(VWriter) (Writings)
a. G.E. Moorc 1. Freedom and Reason
bh. R.M. Hare 1. lthies
¢y TEHGE i, The Logic of Moral Discourse
d.  Paul Edward 1v. Prolegomene to Ethics
Codes :
8 b B d
(1) v 1 11 11
(23 1 11 v 11
(3) 1 1 v 11
(4) 1 11 11 1V

It has becen pointed out that the Mill's argument for Refined altruistic Hedonism suftfers
[rom the fallacy. Select the correct answer from the given below |

(1Y Iheit major
(2)  Illicit minor
(3) Undistributed nuddle

(4)  Fallacy of figurc of spcech

The aim of deterrent theory of punishment is
(1} To take revenge from the crime done
(2) To prevent future act of crime

(3)  Toreform the ¢riminal

(4} To assert the autonomy of individual

Paper-IIT 18 JA-003-17
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46. ITlow would a normative cthicist explain the statcment “This 1s good™

(1)
(2)
(3)
(4)

47.  Which one of the following expresses the basis tenet of hedonism 7

(1)
(2)
(3)
(4)

“This” 1s the end of Life

“This™ 1s approved by people in General

[ approve ‘this’
do “this’

Honesty 1s good n itself.

Ionesty is good becausc it promotes happiness.
Ionesty 1s good because 1t 1s a natural capacity of man.
Honestly 1s good because it distinguishes man from beast.

prepp

Your Personal Exams Guide

48. Match List-1 with List-IT and sclect the correct answer by using codes given below

List -1 List — 11
(Thinker) (Thinking)
a.  Kant 1. Prima Facie obligation
b.  Hegel i, My station and its duties
Bradley 111, Be a Person
d. Ross 1v. Act as a member of kingdom
of end
Codes :
2 b @ d
(1 11 i v
(2) 1v 1 1 1
(3) 1 11 1 v
(4) 1 i v 1

49, Match List-1 with List-II and sclect the correct answer by using codes given below

List -1
(Theory)
a. Prescriptivism
b.  Descriptivism
Non Naturalism
d. Emotivism
Codes :
a b
(1) 1m v
(2) 1 11
(3) 11 1
(4) v 11

Paper-1I1

L

1
v

11

List — 11
(Thinker)
1. Rudolf Carnap
11, Butler
1. R.M. Tare
iv. P.T. Geach

d

11
v

1
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50, “Good’ according to Moorce 15 indefinable becausce
(1) It has imnumerable qualities (2) Itis asimple term

(3) It 1s asuper sensible thing (4) It 1s a mcaningless term

51.  Who among the following pairs of Vedantins, do not justify the concept of Jivanmukti 7
(1) Sankara and Ramanuja (2) Ramanuja and Madhva

-

(3) Sankara and Madhva (4)  WVacaspati and Prakasatman

52.  Who among the Parva-mumamsins hold the view that Dharma is only an intrinsic valuc
and not mstrumental
(1Y Kumarila (2) Prabhakara
(3) Sabara (4)  Murar: Misra
53, With reference to Patanjali’s Yogadarsana, select the correct sequence.
(1) Nivama, vama, pranayama . asana, pratvahara
(2)  Yama, nivama, prahdyama , asana, pratyvahara
(3)  Yama, niyama, asana, pranayama , pralyvahara
() ,e-_“\':;z;inaj prandyama pralyahara, vama, nivamsa
54. Match List-1 with List-II and sclect the correct with the help of the codes given below

Tist -1 T.ast = 1T

a.  Yadlechavada 1 Medanting

b. Pratitva Samutpada ii. Carwiaka

¢.  Isvaravada 111. Bauddhas

d.  Paramanuvada v, Jamnas

Codes :

a b c d
(1y m v i i
(2) 1 i i v
(3) 1 3 1V 1
(4) v 1 1l i

Paper-111 22 JA-003-17
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55. Match List-1 with List-II and sclect the correet answer with the help of codes given
below :
List -1 List — II

a. Carvaka T Pratyaksa , Anumang, Upamana, Sabda only

h.  Bauddhas i, Pratyaksa only

¢. Samkhyans g5 Pratyaksa Anumana only

d. Naiyayikas i pratyaksa . Anumana, Sabda only

Codes :
a b C d
(1N 1 11 v i
(2F i 1 1 1
(3) 1 11 11 1
(4) v 11 11 i
56. Who among the Indian Philosophers makes a distinction between Dharmabhitajfiana and
Dharmibhiitajiana ?
(1} Vasubandhu (2) Madhva
(3) Ramanuja (4) Vallabha
57.  “Whose among the following is the philosophy of bhedabheda ?
(1) Citsukha (2) Kundakunda
(3)  Jammim (4)  Nimbarka

58.  Who among the following philosophers advocate Aviklta  parmamavada 7

(13 Nimbarka (2) Sankara
(3}  Vallabha (4)  Madhva

59.  Match List-I with List-1I and choose the correct answer with the help of codes given

below ;
List — 1 List — 11
a.  lalmud 1. Zorastrianism
b, Tripitaka 11, Stkhism
¢. Granthsaheb 11, Judaism
d.  Zenda Avastha 1v. Buddhism
Codes :
a b c d
Cly di v i 1
(2) v 11 i il
(3) i i v 11
(4) 1 11 11 1y
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Which religion amongst the following advocates fire worship ?
(1Y Judaism (2)  Chrstianity

(3) Islam (4) Zorastrianism

Consider given Assertion (A) and Reason (R} and then mark the correct option as given
below

Assertion (A) : Gandhr accepted *Satyagraha’ as a weapon Lo fight the British Empire.
Reason (R) : He was afraid of British rulers.

Codes :

(1Y (A)and (R) both are true and (R) 1s the correct explanation of (A).

(2)  (A)and (R) both are true, but (R) is not the correct explanation of (A).

(3)  (A)istrue, but (R) 1s falsc.

(4)y  (A)i1s false, but (R) 1s truc.

Which onc of the following statecments is true with reference to Eco-feminism

(1Y It identifies culture with female and nature with male and questions the dominance
of female.

(2) It identifics culture with male and naturc with female and questions the dominance
of malc.

(3) It identifies culture with male and nature with female and questions the dominance
of femalec.

(4y It identifics culture with female and nature with male and questions the dominance
of male.

Who among the following philosophers held the view that A natural right 1s a son that
never had a futher™

(1)  Edmurd Burke (2) Bentham
(3) Nictzsche (4)  Mac Intyre

Which onc of the following is not correct about Gandhian cthies ?
(1}y  Truth as the end

(2}  Non-Violence as the means

(3}  Both the end means should be just

(4) A Just end justifies the bad means

Paper-111 20 JA-003-17
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Match List-T with List-II and sclect the correct answer by using codes given below

List -1 List — II

(Writer) (Wriling)
a. Dcsal Mahadey . Religion and Society
b. Gandhi 11, The story of Bardoli
¢. Radhakrishnan 1. Why Soctalism ?

d. Narayan Java Prakash 1v. Thc Wheel of Fortunc
Codes :

g b C d
(1y 1 1 i v
(2} 1 v 1 i
(3) n v i 1
(4y m 11 v i

“T will kill you™ 1s an example of which one of the following speech Acts according to
Austin ?

(1 Locutionary (2)  Hlocutionary

=

(3} Perlocutionary (4) Non-locutionary

Which one of the following hists correctly depicts Austin’s division of verbs that differ in
their illocutionary force ?

(1} Verdictives exercitives commissives, behavitives and expositives.,

(2}  Verdictives, exercilives, commissives, syntactical and expositives.

(3)  Verdictives, exercilives, commissives, semantical and behavitives.

(4)  Verdictives, exercitives, semantical, syntactical and commissives,

“To be 1s to be the value of a variable™ 1s the standpoint advocated by
(1) Qune (2)  Frege
(3) Russcll (4) Strawson

Which onc of the following cannot be considered as indefinite description as per Russcll ¢
(1) Present king of Avodhya

(2)  Present President of India

(3) Present Governor of Reserve Bank of India

(4)  Present Prime Minister of India.

“There 1s no one standard meaning of a given word, 1t has as many meanings as it has
uscs, and that these are countless.™ — 1s the view held by :

(1} Russcll (2)  Frege

(3)  Wittgenstern (4)  Dammett
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TT-1 BT -1 o B AT T 271 A1 99 T 52 9 TEl 3T 1 T2 HIoT

o

™ A

T - 1 T — 11
(1) (Tier)
A, THE HEld i et i |
b, T T v el e | EA T
c.  TERHWH i, ZaTT e
d.  FE S THET v, T el 3 wed
FT

b

a b & d
ElE 11 11 1y
(2) 1 v 11 1
(3) 1 v 1 11
(4) 11 11 1 1

AT % 2TTAR % [ a1 o6 =61 38601 & 9
(1) ==y (2) STEFER
(3) vl FEE (4)  oTereT o

FRArATEd W % Ush 91 312 & RT3 389 a9-ay 9 | 48 ol T2 Fl § 9

- — o [ i - a0
{I} i \_,-E QE*‘:E:, [J,EH”I E: Ea : 35] EF:E L f—ql’." “ EF:E = { , {” b EF:E .

[

(2) dieesd, THRRCey, HAder, Meiesmel 3T TSI

| Rl N
4

(3} Ga—;a—- = 1 T » . T — = 1 rﬂ:’ ‘\.{_l‘u C :a:ﬁ-r TE‘FT_TW

(4) wfeHeed, TRy, H=2Hd, e AT HHIeeH

(1) =T = (2) TR
(3) THAH (4) e

TET o FATER FEerEd 0§ &M A9 [@eRe o T 0 @R 6] a1 511 Tehdl 9
(1) e =6 e Tl (2) IR T A TR

(3) ORA™ oE 9 F aqqT TaR (4) IR 3T SFeTER T4 T

feRdl 9TeT o1 SIS IR 2791 78] ¥, 35 7o U 2, 39 o € & F e € 9% O 7
(1) TIT= (2) TR
(3) TaeIeTE = (4) HZ
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“Decath destroys all our possibilitics™ is the statement of
(1}  Heideggar (2)  Husserl

i ]

(3) Sartre (4) Jaspers

According to which one of the following “essences’ can be “seen” just as “tones’ can be
‘heard”.

(1}  Heideggar (2) Marcel

(3)  Husserl (4)  Satre

Which one of the following 1s not the aim of Husserl’s phenomenology 7

(1Y To discover the foundations of knowledge and experience.

(2)  To lay bare the structurc which constitutes the esscnces of logical concepts.
(3)  To take neutral position with respect to the states of consciousncss.

(4)  To accept the presuppositions of a given systems.

Match List-1 with List-11 and mark the correct code ;

List -1 List — II
a. Schleicrmacher 1. Phcnomenological [ermencutics
b. Heidegger 11, Radical Hermeneutics
¢.  Derrida i1, Marxist Hermeneulics

d. Fredric Jameson 1v. Romantic [lermencutics

Codes :

g b c d
Cly 1i 11 1V
(2) v i 1 i
(3) 1v 11 i i
(4y v | 1i 1l

Which one of the following philosophers Contributed *Ontological turn” to Hermeneuties,

(1) Paul Ricocur (2) Decrrida
(3) Ilabcrmas (4) Tleidegger

G
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STIATER H ¥ fqer ST G I o] & @ S TRl § 6 S YA S THAF 0

-

(1) BESR (2) Y

(3) & (4) wm=

FfeIfaa 5 | S g9el 3 FArH-eisT % 3539 781 §

(1) T @Y A o 2L 6l G |

(2) 3F GEAT F FAEI0T HAT ST Alicheh FEaRl 37 |1 sl T i & |

(3) =T T AT % HEH T qeddl |

(4) U= TEH A &

Tl-1 o1 W11 = A1 GHIAT T 27 A 89 T 52 9 TEl ST 1 997 HIT
:xbl_l ?:!'_;‘Tiﬁ—ll

. T T L
—
—

a.  TEASATHITER L FAHATSTR 2829
- - - il R

b. AEENL 11, = %Eﬂ_ﬂ [T

c. SRS i, TSRO SR

B Y . B oo
d. IhIgeh ST v, YTHIES AT

a b C d
(1) 1 ii il v
(2) v i 111 il
(3) v 11 i i

4) v i i i

fereAfofie & & S 3Tl = e 1 “TeTs 1’ 71§ 2

(1) dfer W (2) ==

(3) BEHEE (4) BTEER
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